BSEH Practice Paper

Subject: Economics, Set-¢  Class 12th

General Instructions.-
i)  Questions paper contains two section.
Section - A- Micro Economics
Section - B- Macro Economics
ii) This paper contains 20 multiple choice questions type questions of 1 mark each.

iii) This paper contains 4 short answer questions type questions of 3 marks each to be
answered in 60 to 80 words.

iv) This paper contains 6 short answer questions type questions of 4 marks each to be
answered in 80 to 100 words.

v) This paper contains 4 long answer questions type questions of 6 marks each to be
answered in 100 to 150 words.
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Section- A (Micro Economics)
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Class 12th


1. Rmfafed & @ oa &t ue srfaawn $i d=<iia guwr =g 82

a) foreT aegHT o1 e foRaT STTg

b) ITe fohedh forg forar wITg

c) TiaTy=t o1 gof SuanT

d) Telt 3R IRISHIRY < gHT

which one of the following is not a Central problem of the economy ?
a) What to produce

b) For whom to produce

c) Fuller Utilisation of Resources.

d) Problem of Poverty and Unemployment
2.9 a%h b f&gehra 6t af §

(a) &l & 9f & ehrRoT i & apefl

(b) rAd & T+t & wROTAFT H iy

(c)hrmd # gRad= & foqr 7T & uRad=

(d) = @ S T

Shifting of the Demand curve means:

Decrease in demand due to increase in price
Increase in demand due to decrease in prize
change in demand without change in prize

None of there.

3. A= 4 9 fora RS & MR d=oTcdes gt hdT &
SEFVEREGE b) ST&f AR B2 38T &

c) ST AR f@R g d) STRIGT Y

in which of the following situations MR can be negative?

when AR Increasing b) when AR Decreasing
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¢ ) when AR constant d) All of above

4. ¥faees fdg W BH & o e g Bl 2|

a)q b)EFTH® C)FEUTHD d)gH | B3 T8

The profit and loss of the firm at the break even point is:

Zero b) positive c) Negitive d) None of these

5. gff ach oTa @t g TRt @1 gl , ot 7g st g R

a) gof et o b) ot e o

¢ ) 3T wiaer Of d) gohTé & IR AR g

When the supply curve is a vertical straight line, It tells us that:

Perfectly Elastic supply b) Perfectly inclastic supply.

¢ ) Unitary Elastic supply d) Grater that Unetary Elastic sopply

RIEERICARRCI CIRSIE RIS

Fill in the blanks with appropriate words!

Trgut sreferan & e DA & | R /Fafte

Study of economy as awholeiscalled.____ economics. (micro/macro)
[( P x S EgAR

P.AQ Q AP
[( )a*apr” pXaq
Price elasticity of demand =
8. TG Thal Hifeh 3T 3R Hifaes Frfa & & e Y ERATAT &1 (Aeh-ichl/3mffn)
Production function shows the relationship between physical inputs and physical

output.

(technical economie)

f=ferfaa st & g Al it sifdeae (A) 3R @RUT (R) & U § IdmaT T1 g1 =i g 79 fahedi & 9
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gt fadhed g |

fRrepeg--

(a) 1fARY (A) 3R BRT (R) ST Tt &1 BRUT (R) 31fHeh= (A) Pt Gol AR g

(b) 31 (A) 3R BRUT (R) EIHT Tat @ afchT RuT (R) 3if¥ehe (A) 6 Tgt aure w81 gl
(c) SifAiherT (A) el 8 wAfch HRor (R) Tetd 81

(d) SfHeHU (A) Teld § Afe BRI (R) Tl &1

In the following question, two statements are stated as Assertation (A) & Reason (R). Choose
the correct alternative among those given below:

Alternatives:

(a) Both Assertain (A) and Reason (R) are true and Reason (R) is the correct explanation of
Assertain (A)

(b) Both Assertain (A) and Reason (R) are true and Reason (R) is not the correct explanation of
Assertain (A)

(c) Assertain (A) is true but Reason (R) is false.

(d) Assertain (A) is false but Reason (R) is true.

9. JAMABAT (A): STl Teh TaTE SEEROM |

DR (R) fh¥l aeg & Wik @ areqd S %] ol ol dA1 & 8, St Uoh THT UR SATGeh o UT ST
=

Assertion (A): Supply is a flow Concept.

Reason (R) Stock of a commodity refers to the total quantity of that commodity which is
available with the producer at a point of time.

JAMABA (A) IF FTTR & ik TR FTT giedt & at hid dg H ugf gt &
FRUT (R) TR fehart i 3 ot i s & g sifderad himd o el 8
10. QT GRT BH oh Tl i T Farsy|

Explain the conditions of firm's equilibrium by diagram.

11. 79 Qeh T[fSaT i dhimd 4 ufa 7fEar 8, at ges 1fean Fmfar ufa &7 8 1fgar &t simufd avar 81 afe da
e 5 ufa 7fEan gt St 8, at a8 ufa &7 10 7fEar & emgfd ot ot FaR g1 et B smgfd it hea
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BIEGIRIGIGTY

When the price of a doll is 4 per doll, a doll maker supply 8 dolls per day. If the price rises to 5
per doll, he is willing to supply 10 dolls per day. Calculate the price clasticity of supply of dolls.

12. IUTI<HT FT S STLRUN &l &Y § gAY

Explain briefly the concept of Consumer budget

13. 771 & 47w &t e O |fgd HifSg

Explain the law of demand with a diagram
or
gfci & fem i aren fo afga Al
Explain the low of supply with a diagram
14. 3TEER ANTA hl YR hi T He |
Explain the concept of opportunity cost.
15. quf ufq@ifYdT IToIR & Siarfd S I &1 R o |
Explain the revenue curve ineler the perfect competition market.

16. et ITE 3R AT It & I B e ht ATMeldhT Yd TR GRT THSY

Explain the relationship between total production and marginal production with the help of table
and diagram.

or

SMYfF T AT g ! TR ! SYfet &t orer ohl fmforfea fRafat & @ vde & forg smgfd asp
CE)Lef

a) AT AT b) SR A <! ) STy &1 w7 =1

Define price clasticity of Supply. Draw a supply cure for each of the following situations of
elasticity of supply?

a) Elasticity of supply >l b) Elasticity of Supply <1 c) Elasticity supply=I
17. Tl aeg &t 7t iR fAmafaRaa aRad=t i uvma Rarfs 6 ggrar @ awssy |
a) UfdeITy= g% & hiFa d gfg |
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b) GReh a¥] <hl dhIFd H g |

Explain with the help of diagram, the effect of the following changes on the demand for a
Commaodity

Arise in the price of substitute good.
Arise in the price of Complementary good.
or

qut afaiedt STSTR & Qe B o AT W14 @l @1 §RT FHsSY

Explain the situation of normal profit of a firm in a perfectly Competitive market.

Section-B (macro Economics)

18 ffaRad & @ sia-dt garg IR & 2

(a) IgHT b) e c) g&T @l AT (d) 378 @ IS TN
which of the following is a flow variable

a) Consumption (b) wealth ¢) Quantity of money d) None of these
19 'gumasr # AEfafed § 9§ fhaent anfae g fohar sirar

e b) ST c) fata d) Izt 2

which of the following is not included in Injections”.
Investment  b) Export c) Import d) Consumption Expenditure..
20. af& MPC = 0.5 gt at, 7ures (K) ht 5 g

a)l b) 2 c)8 d)5

If MPC=0.5 then the value of multiplier will be

a)1 b) 2 c)8 d) 5
21. TEW 3 ot AT § AEfafad & @ e Y@ifhd wfears a8t @

Rer P b) &gt TorT c) ufawhat afga Gard ) faRsaft
Sufaat &t ey

which of the following is not a theoretical difficulty in measuring national Income.

fixed price b) Double counting c¢) Non-rewarding services
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Income of foreign companies

22. MR RS1q sfeh Y 9T T g3 ?

1905 b) 1920 c) 1935 d) 1990
when was the RBI established?

1905 b) 1920 c) 1935 d) 1990

23. R I &7 Sfa wrsst & wRu |

Fill in the blanks with appropriate words.

wHifgen vrarg fafea= e 4 Tehe ST & | Tl o UaTe / HaTall &1 ydTe

Monetary flow reveals in different areas. (flow of money / How of Sewika

24. 3L R JUT 3ATeh TETadT & R i Fed | (Rae vaer &= Raer et o
The difference between indirect tax and subsidies Called (Net direct fax / Net
indirect tax)

25. TErferd fAasr ¥ uRada & @Wd= g1 (3T / SYHI)

Autonomous investment is independent of changes in (Income/consumption)

fferfaa st & g sl dt sifvea (A) SR &R (R) & U H gdraT T g1 - g 79 fahedi & 9
el faehea g1

e
(a) HfAHYA (A) 3R SR (R) ST Tt &1 RO (R) AR (A) Pl Tgt AR |

(b) 3tk (A) 3R FHRUT (R) T Tat @ cifchT RUT (R) ifARYA (A) hl Tgt e =gl 8l
(c) ifAh (A) T&) & @k wRoT (R) Terd 81

(d) 31fFeR= (A) TTeTd & AAfch Rt (R) T8l 8

In the following question, two statements are stated as Assertation (A) & Reason (R). Choose
the correct alternative among those given below:

Alternatives:

(a) Both Assertain (A) and Reason (R) are true and Reason (R) is the correct explanation of
Assertain (A)

(b) Both Assertain (A) and Reason (R) are true and Reason (R) is not the correct explanation of
Assertain (A)
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(c) Assertain (A) is true but Reason (R) is false.

(d) Assertain (A) is false but Reason (R) is true.

26. HAfHRYU(A) ST ATUR AJel =1 J AT 8, af I Hder °1e H g1 gidT g
1T (R) SATUR F= BOP @Td &1 € feewn &1

Assertion (R) when Balance of trade is in deficit, the BOP is not in deficit.
Reserve(R) Balance of trade is only a part of B O P accounts..

27. AR (A):- fadr @ UTed A1eH T YR i TR A4 31 o1 fger 8l 81
PRUI(R) T8 WRE i o] e & 3eq= et &t 21

Assertion (R). Factor Income from abroad is not a part of domestic factor Income of India.
Reason (R) It is not generated within the domestic teritory of India.

28. A el chl STALRUI T THSESY |

Explain the concept of saving function.

or

WA AT H ST G e S UM o |

write the measures to correct the disequilibrium in the Balance of payment.
29. St smg qur I Mg H SR 8

what is the difference between private income and National Income.
30. tfeHiT 1 gidt g1 s <t Tgrar 9 wE |

what is excess demand? Explain with the help of diagram.

or

ISIC 1T T BIdT &1 38 HY GRT fhaT ST HehdT 8|

what is budget Deficit? How is it covered?

31. &R fohd Thgd 82 R <h! fFAATaTd gard|

what is a tax!? Explain the features of a tax.

32. IUNNT Tl T a1 &1 &1 gRT GHeEd |

what is consumption ? Explain with Diagram.
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33. Iugh I I TERIAT & THT HRT hl YRUT hi AT B

Explain the Concept of aggregate demand using an appropriate diagram.

or

Cfdeh SRISHTIRY T 3fdeh SRISHTRY hl saream el

Explain voluntary umemployment and involuntary Unemployment.

34. 'Fgferd 3 qUT ISR & &R & AuRoT Y erea gret /v d°1 Fet Yfel ashl I Tgraar @ Hifeg

Explain the determination of "equilibrium level of income and employment with the help of
aggregate demand (AD) and aggregate supply (AS) curves.

or
HeT &1 il eh! YRUN ehl THSISY | 3R HeaT ehl Gicl <h AT ehi-4 |

Explain the concept of money supply and what are the measures of money Supply.
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